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Accounting Unit 4 practice exam 2010 and suggested solutions
Anthony Sullivan

The Peninsula School

Matthew Christopher

Caulfield Grammar School

The following VCE Accounting Unit 4 practice exam consists of two questions, each worth 45 marks. An answer book and suggested solutions follow the question book.

The practice exam and solutions are based on the authors’ interpretation of the VCE Accounting Study Design. 
Please note that the questions and solutions have no official status and teachers should refer to the Victorian Curriculum and Assessment Authority website http://www.vcaa.vic.edu.au for further information. 
Teachers are advised to preview all practice exam material before distributing it to students.
ACCOUNTING UNIT 4
Practice written examination 2010

Reading time: 15 minutes

Writing time: 1 hour 30 minutes

Question book

Structure of book

	Number of questions
	Number of questions to 
be answered
	Number of marks

	2


	2
	90


· Students are permitted to bring into the examination room: pens, pencils, highlighters, erasers, sharpeners, rulers and one scientific calculator.

· Students are NOT permitted to bring into the examination room: blank sheets of paper and/or white-out liquid/tape.

Materials supplied

· Question book 

· Answer book
Instructions

· Answer both questions in the answer book.

· All written responses must be in English.

Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic devices into the examination room.

NOTE: This practice examination has no official status and represents an indication only of the type of questions that VCAA examiners may set.
Question 1 
Imogen’s Imports
Imogen Freedman operates a small business, Imogen’s Imports, which sells vacuum cleaners and accessories. Imogen’s accountant maintains a double-entry, accrual-based accounting system with control accounts for Debtors, Creditors and Stock and subsidiary records. The business uses a perpetual inventory recording system with the FIFO (First In, First Out) cost assignment method.

The business prepares financial reports on an annual basis at 30 June each year.

1.1
On 3 June 2010, Imogen returned goods purchased on 30 May on credit from Vincent’s Vacuums. The goods returned cost Imogen’s Imports $400 plus $40 GST, but were going to be sold for $800 plus $80 GST.
Required

1.1.1
Prepare the General Journal entry to record the return of goods on 3 June 2010. (Narration is not required.)
3 marks

1.1.2
State the name of the source document that would be used for the entry you made in 1.1.1 above.
1 mark

1.1.3
Apart from being damaged, state two reasons the goods may have been returned to Vincent’s Vacuums.

2 marks
1.2
Imogen completed a stocktake on 30 June 2010. The following quantities were found to be on hand:


Quantity
Cost Price
Usual Selling Price


Bagless Vacuums
50
$150
$300

Barrel Vacuums
 60
$225
$450

Shampoo Vacuums
20
$300
$350

Hand Vacuums
30
$100
$200
Imogen pays staff a sales commission when goods are sold. This commission is $50 per product. 

Due to new products coming on to the market, Imogen decided to change her selling prices to the following, effective immediately:


New Selling Price


Bagless Vacuums
$270

Barrel Vacuums 
$420

Shampoo Vacuums
$320

Hand Vacuums
$150
Required
1.2.1
Explain what is meant by the term ‘net realisable value’.
2 marks
1.2.2
Determine the net realisable value for each of the four products.
1 mark

1.2.3
Prepare the General Journal entry to account for the stock write-down required on 30 June 2010—Memo 31. (Narration is required.)
3 marks

1.2.4 
Select an item that is affected by a stock write-down. Enter the balance of this item in its Stock Card and prepare the entry to complete the write-down of the item.

3 marks

In addition to the adjustment of stock in Question 1.2.3, Imogen has also provided the following summary of accounts for the year ending 30 June 2010:

Sales
100 000

Customs Duty
10 000

Cost of Sales
55 000

Required
1.2.5
Prepare a Profit and Loss Statement extract for Imogen’s Imports for the 12 months ending 30 June 2010, which shows Gross Profit and Adjusted Gross Profit.
3 marks

1.2.6
Identify how the customs duty would be reported. Justify your answer.
2 marks
1.3
In March 2010, the business invested $30 000 cash, at 6% per annum, into an investment account for a term of six months. Interest on the investment is payable at the end of the 
six-month term. 


On 30 June 2010, a balance day adjustment was prepared to record $600 Interest Revenue due but not yet received. On 31 August 2010, at the end of the six-month period, a cheque covering interest and principal for $30 900 was received (Receipt No. 231).

Required
1.3.1
Record the receipt of $30 900 on 31 August 2010 in the Cash Receipts Journal.
3 marks
1.3.2 
State the effect on Net Profit if the balance day adjustment for Interest Revenue was not made on 30 June 2010.

1 mark

1.3.3
Show how the $900 interest that was received on 31 August 2010 will be reported in the Cash Flow Statement for the six months ended 31 December 2010.

2 marks

On 1 May 2010, Imogen rented part of her showroom to another business for $850 + $85 GST per month. On 12 May, she received payment for three months rent covering May, June and July.
Required
1.3.4
Prepare the General Journal entry required to be made at 30 June 2010. (A narration is not required).
2 marks

1.3.5
State the effect that this transaction will have on the accounting equation.

2 marks
1.3.6
With reference to one accounting principle, explain why the balance day adjustment is necessary for Rent received.

3 marks

1.4 
At 30 June 2010 the accountant provided the following information relating to stock:


2008–2009
2009–2010

Average Stock  x  365 

Stock Turnover
 Cost of Goods Sold
55 days
70 days

Required
1.4.1
Explain how the change in stock turnover could have:

· a negative effect on Liquidity

· a positive effect on Net Profit.
2 + 2 = 4 marks

1.4.2
State two measures the business may take to assist in improving Stock Turnover in the future.
2 marks


The Quick Assets Ratio is as follows:

Current Assets – (Stock + Prepayments)

Current Liabilities – Bank Overdraft

Required
1.4.3
Explain why stock and prepayments are excluded from the calculation of the Quick Assets Ratio.

2 marks

1.4.4
Excluding the use of ratios, identify two other methods of monitoring business liquidity.

2 marks

Imogen’s creditors all require payment within 30 days from date of invoice. Some offer discounts for early payment. Information about Creditors Turnover is provided below.

Creditors Turnover
2008
2008 
2009
Average Creditors x 365
24 days
20 days 
32 days

Credit Purchases

Required
1.4.5 
Identify one positive effect this trend in Creditors Turnover could have on the cash flow position of Imogen’s Imports.
1 mark

1.4.6
Identify one negative effect this trend in Creditors Turnover could have on the cash flow position of Imogen’s Imports.

1 mark

Total: 45 marks
Question 2
The Great Gatsby

Justin Tong operates a small business, The Great Gatsby, which imports hair products from Japan and sells them to hairdressers located all over Victoria. Justin maintains a small fleet of delivery vans to assist him in supplying his customers. 

Justin’s accountant maintains a double-entry, accrual-based accounting system with control accounts for Debtors, Creditors and Stock. The business uses a perpetual inventory recording system with the FIFO cost assignment method. The business prepares its reports every six months on 30 June and 31 December.

On 1 January 2010 the following account balances appeared in the General Ledger:
Motor Vehicles
$180 000

Accumulated Depreciation of Motor Vehicles
$58 500

2.1
On 1 February 2010 the business purchased a new vehicle. The invoice pertaining to the purchase is shown below.
JONES MOTORS
ABN:  463 691 241

20 Palermo Street

Scotch Hill  Vic.  3145
Date: 1 February 2010

Tax Invoice No: 203
Customer: 
The Great Gatsby


43 Burke Road



Canterbury  Vic.  3123

	Sale of One 2008 Mercedes VITO low roof van

	Negotiated price 
38 500

	Plus GST                              
3 850

	 BALANCE OWING                   
42 350

	

	


Terms 2/14 Net 30

Required
2.1.1
Record the purchase of the new vehicle in the General Journal. (A narration is not required.)
3 marks

2.1.2
On 12 February 2010 the business paid the invoice from Jones Motors. Record this payment in the Cash Payments Journal (Cheque No. 1523).

2 marks
2.2
At the end of June, Justin decided that he would streamline the business and reduce the number customers he supplies goods to. As a result of this cut back Justin decided to sell one of the vehicles.   

On 30 June 2010 the business sold a vehicle that had cost $42 000 (plus $4 200 GST) when purchased on 1 December 2008. The vehicle was sold for $27 000 cash.

Justin depreciates all vehicles at the rate of 12% per annum.

Required
2.2.1
Calculate the depreciation of Motor Vehicles for the six months ended 30 June 2010.

2 marks
2.2.2
Show how the:
· Motor Vehicles
· Accumulated Depreciation of Motor Vehicles, and
· Disposal of Motor Vehicles 
accounts would appear in the General Ledger after all entries had been posted.

2 + 2 + 3 = 7 marks
2.2.3
Using the information above, show how the Investing section of the Cash Flow Statement for The Great Gatsby would look for the six months ended 30 June 2010.

3 marks
2.2.4
Justin has told his accountant that the profit or loss on the disposal of the vehicle should not be shown in the reports. He believes that it will breach the qualitative characteristic of comparability because he did not sell a vehicle in the previous reporting period. Explain to Justin whether he is correct.

2 marks
2.3
At 30 June 2010, Justin’s accountant provided him with the following information:


Six months ended
Six months ended
Six months ended

30/06/2009
31/12/2009
30/6/2010

Net Profit Ratio

Net Profit 
15%
14%
8%

   Sales

Gross Profit Ratio

Gross Profit
66%
66%
75%

     Sales

Return on Assets

         Net Profit          
33%
49%
19.2%

Average Total Assets

Asset Turnover Ratio

             Sales             
2.2 times
3.5 times
2.4 times

Average Total Assets
Required
2.3.1
Provide one possible reason for the trend in the Gross Profit Ratio. 

2 marks
2.3.2
Suggest two strategies that Justin could implement to improve the Net Profit Ratio that do not affect the firm’s Gross Profit Ratio.

2 marks
2.3.3
Define what the Return on Assets Ratio measures? Explain the relationship between the results obtained for the Return on Assets Ratio and the Asset Turnover Ratio.

2 + 2 = 4 marks
2.3.4
Identify one piece of non-financial information that may influence the profitability of the business. Explain how this might affect business performance.

1 + 2 = 3 marks

2.4 
For the purposes of Question 2.4 you are not required to consider the impact of GST.
On 30 June 2010 the accountant prepared the following information for Justin regarding actual and projected business performance for the next six months.

Account balances as at 30 June 2010:
Debtors Control
$75 000

Stock Control
$55 000

Creditors Control
$62 500

Budgeted information

· Total sales for the period ending 30 June 2010 were $350 000. This is expected to increase by 10% in the budgeted period.
· Credit sales are expected to continue to comprise 60% of all sales and sales returns will be $13 600
· Justin will maintain his current mark-up of 300% on cost price.
· Stock purchases for the period are budgeted to be $167 850. 90% of purchases are on credit.

· Justin receives a discount from his trade creditors of 5% if he pays within 14 days of purchase. He is expected to continue to ensure that all potential discounts are attained by paying off the opening balance, plus the $102 000 worth of stock purchased by 16 December.

· Payments to sundry creditors are expected to be $25 000.

· Bad debts for the period are expected to be $2 600.

· Receipts from Debtors are expected to be $231 000. Discount expense for the period is expected to be $7 500.
· Drawings for the period are expected to be $75 000. Of this, $5 000 will be drawings of stock.

· In addition to bad debts and discount expense, other expenses (including stock write-downs of $12 000) are budgeted to be $120 000.
· The closing balance of Stock Control is expected to be $113 000. There is not expected to be a stock loss during the reporting period.
Required
2.4.1
Reconstruct and complete the Stock Control, Debtors Control and Creditors Control accounts to calculate the:

· cost price of sales returns for the budgeted reporting period
· expected closing balance of Debtors Control
· expected closing balance of Creditors Control.

4 + 3 + 2 = 9 marks
2.4.2
Prepare a Budgeted Profit and Loss Statement up to Adjusted Gross Profit for the six months ended 31 December 2010.

4 marks
2.4.3
Explain how Justin could use the Budgeted Profit and Loss Statement during the budgeted period other than planning for future reporting periods.

2 marks
Total: 45 marks
END OF QUESTION BOOK

ACCOUNTING UNIT 4
Practice written examination 2010
Reading time: 15 minutes

Writing time: 1 hour 30 minutes

ANSWER book

Instructions

· A question book is provided with this answer book.

· Answer all questions in the spaces provided in this book. 

· Refer to the Instructions on the front cover of the question book.

Name …………………………………………………….......
Teacher ……………………………........

Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic devices into the examination room.

Question 1—Imogen’s Imports 
1.1.1

General Journal

	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


3 marks

1.1.2

	Source document
	


1 mark

1.1.3

	Reason 1

	

	

	Reason 2

	

	


2 marks

1.2.1

	Explanation

	

	


2 marks

1.2.2

	Item
	Net Realisable Value

	Bagless Vacuums
	

	Barrel Vacuums
	

	Shampoo Vacuums
	

	Hand Vacuums
	


1 mark

1.2.3

General Journal

	Date
2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


3 marks

1.2.4

STOCK CARD

[image: image2.jpg]Subsidiary Ledger: Stock Card

Product:   




Recording method: FIFO

	Date

2010
	Details
	IN
	OUT
	BALANCE

	
	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


3 marks

1.2.5

Imogen’s Imports

Profit and Loss Statement Extract
for the 12 months ending 30 June 2010

	
	$
	$

	Revenue
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


3 marks


1.2.6

	

	

	

	

	

	


2 marks

1.3.1

Cash Receipts Journal

	Date

2010
	Details
	Rec.

No.
	Bank
	Debtors
	Sales
	GST
	Sundries

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


3 marks
1.3.2

	
	Overstated/Understated/No effect
	Amount $

	Net Profit
	
	


1 mark

1.3.3
Imogen’s Imports

Cash Flow Statement (extract)

	Item
	Operating/Investing/Financing
	Inflow/Outflow
	Amount
$

	
	
	
	

	
	
	
	

	
	
	
	


2 marks

1.3.4
General Journal

	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


2 marks

1.3.5

	
	Increase/Decrease/No effect
	Amount $

	Assets
	
	

	Liabilities
	
	

	Owner’s Equity
	
	


2 marks

1.3.6

	Accounting principle

	Explanation

	

	


 3 marks

1.4.1

	Negative effect on Liquidity

	

	

	


2 marks

	Positive effect on Net Profit

	

	

	


2 marks

1.4.2
	Measure 1

	

	Measure 2

	


2 marks

1.4.3

	Explanation—Stock

	

	Explanation—Prepayments

	


2 marks

1.4.4

	Method 1

	

	Method 2

	


2 marks

1.4.5

	Positive effect

	

	


1 mark

1.4.6
	Negative effect

	

	


 1 mark
Total: 45 marks
Question 2—The Great Gatsby
2.1.1

General Journal
	Date
2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


3 marks

2.1.2

Cash Payments Journal
	Date
2010
	Details
	Chq.
No.
	Bank
	Disc.
Rev.
	Creditors
	Stock
Control
	Wages
	GST
	Sundries

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


2 marks

2.2.1 
Calculation of depreciation
	

	Depreciation Expense
	$


 2 marks

2.2.2 

	Motor Vehicles

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	Jan. 1
	Balance
	180 000
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	Accumulated Depreciation of Motor Vehicles

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	
	
	
	Jan. 1
	Balance
	58 500

	
	
	
	
	
	

	
	
	
	
	
	


	Disposal of Motor Vehicles

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


2 + 2 + 3 = 7 marks

2.2.3 

Cash Flow Statement (extract) for the six months ended 30 June 2010
	Investing Activities
	$
	$

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	Net Cash Flow from Investing Activities
	
	


3 marks

2.2.4

	Explanation

	

	

	


2 marks

2.3.1

	Explanation

	

	


2 marks

2.3.2

	Suggestion 1

	

	Suggestion 2

	


2 marks

2.3.3

	Return on Assets Ratio measures:

	

	

	Explain the relationship:

	

	


2 + 2 = 4 marks

2.3.4


	Identify

	Explanation

	

	


1 + 2 = 3 marks

2.4.1 

	Stock Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	July 1
	Balance
	55 000
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	Cost price of sales returns $



	Debtors Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	July 1
	Balance
	75 000
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	Closing balance of Debtors Control $



	Creditors Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	
	
	
	July 1
	Balance
	62 500

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	Closing balance of Creditors Control $




4 + 3 + 2 = 9 marks
2.4.2

The Great Gatsby

Budgeted Profit and Loss Statement (extract) for the six months ended 31 December 2010 

	Revenue
	$
	$

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


4 marks
2.4.3

	Explanation

	

	

	


2 marks

Total: 45 marks
END OF ANSWER BOOK

Solutions to Unit 4 practice exam 2010
Question 1—Imogen’s Imports

1.1.1

General Journal

	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	June 3
	Creditors Control
	440
	
	
	

	
	Creditor—Vincent’s Vacuums
	
	
	440
	

	
	Stock Control
	
	400
	
	

	
	GST Clearing
	
	40
	
	

	
	
	
	
	
	


Minus 1 mark per error
3 marks


1.1.2

	Source document
	Credit Note


1 mark

1.1.3

	Reason 1 

	Stock the wrong colour/size/shape/model

	Too many items purchased

	Reason 2

	Customer changes their mind

	


2 marks

1.2.1

	Explanation

	Net Realisable Value is the estimated selling price of stock less any costs involved in its 

	selling, marketing or distribution.


2 marks

1.2.2

	Item
	Net Realisable Value

	Bagless Vacuums
	$220

	Barrel Vacuums
	$370

	Shampoo Vacuums
	$270

	Hand Vacuums
	$100


1 mark

1.2.3

General Journal

	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	June 30
	Stock Write-down
	600
	
	
	

	
	              Stock Control
	
	600
	
	

	
	Stock write-down of 20 Shampoo Vacuums to NRV due to new products being realised (Memo 23).

	
	
	
	
	
	


3 marks

1.2.4

STOCK CARD

Subsidiary Ledger: Stock Card

Product: Shampoo Vacuums
Recording method: FIFO

	Date
2010
	Details
	IN
	OUT
	BALANCE

	
	
	Units
	Cost
	Total
	Units
	Cost
	Total
	Units
	Cost
	Total

	
	Balance
	
	
	
	
	
	
	20
	300
	6 000

	June 30
	Memo 23
	
	
	
	20
	30
	600
	20
	270
	5 400

	
	
	
	
	
	
	
	
	
	
	


1 mark per entry plus 1 mark for product
3 marks

1.2.5

Imogen’s Imports

Profit and Loss Statement Extract
for the 12 months ending 30 June 2010

	
	$
	$

	Revenue
	
	

	Sales
	
	100 000

	Less Cost of Goods Sold
	
	

	Cost of Sales
	55 000
	

	Customs Duty
	10 000
	65 000

	Gross Profit
	
	35 000

	Less Stock Write-down
	
	600

	Adjusted Gross Profit
	
	34 400

	
	
	


Minus 1 mark per error.

3 marks


1.2.6

	The customs duty would be treated as period cost in the Profit and Loss Statement and the full

	amount would be expensed in the reporting period.

	This is because the customs duty is listed as a separate amount—if it were to be treated as a

	product cost, then it would be part of the Cost of Sales figure.

	


2 marks
1.3.1

Cash Receipts Journal

	Date

2010
	Details
	Rec.

No.
	Bank
	Debtors
	Sales
	GST
	Sundries

	Aug. 31
	Interest Revenue
	524
	30 900
	
	
	
	300

	
	Accrued Interest Rev.
	
	
	
	
	
	600

	
	Investment
	
	
	
	
	
	30 000


3 marks
1.3.2

	
	Overstated/Understated/No effect
	Amount $

	Net Profit
	Understated
	600


1 mark


1.3.3

Imogen’s Imports

Cash Flow Statement (extract)

	Item
	Operating/Investing/Financing
	Inflow/Outflow
	Amount
$

	Interest Revenue
	Operating
	Inflow
	300

	Accrued Interest Revenue
	Operating
	Inflow
	600

	
	
	
	


2 marks


1.3.4
General Journal

	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	June 30
	Prepaid Rent Revenue
	1 700
	
	
	

	
	               Rent Revenue
	
	1 700
	
	

	
	
	
	
	
	


2 marks

1.3.5

	
	Increase/Decrease/No effect
	Amount $

	Assets
	No effect
	

	Liabilities
	Decrease
	1 700

	Owner’s Equity
	Increase
	1 700


2 marks

1.3.6

	Accounting principle   Reporting period

	Explanation   States that transactions should be reflected in the period in which they occurred.

	In this case, two months’ rent has been used in the completed period and should be recognised.

	


3 marks

1.4.1

	Negative effect on Liquidity

	Liquidity will deteriorate as cash is tied up in stock not being sold; therefore, less cash is being

	received through cash sales and receipts from debtors.

	


2 marks
	Positive effect on Net Profit

	The longer Stock turnover may be due to the business stocking a broader range of stock, which 

	leads to an increase in sales.

	Bought stock cheaper in bulk and able to earn a greater profit margin on sales


2 marks

1.4.2
	Measure 1   Reduce the amount of stock on hand

	                     Manage the mix of stock

	Measure 2   Increase advertising

	                    Reduce selling price 


2 marks

1.4.3

	Explanation   The ratio includes only those items that can quickly be converted to cash.

	Stock takes time to sell while prepayments are not easily refunded.

	

	


2 marks

1.4.4

	Method 1

	Business goals or objectives

	Method 2

	Industry averages


2 marks

1.4.5

	Positive effect

	By delaying payment the owner allows more time to collect the cash from credit sales.

	


1 mark

1.4.6
	Negative effect

	By delaying payment the owner forgoes any discount available.

	


1 mark
Total: 45 marks
Question 2—The Great Gatsby

2.1.1

General Journal
	Date

2010
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Feb. 1
	Motor Vehicles
	38 500
	
	
	

	
	GST Clearing
	3 850
	
	
	

	
	Sundry Creditor—Jones Motors
	
	42 350
	
	

	
	
	
	
	
	

	
	
	
	
	
	


3 marks
2.1.2
Cash Payments Journal
	Date
2010
	Details
	Chq
No.
	Bank
	Disc.
Rev.
	Creditors
	Stock
Control
	Wages
	GST
	Sundries

	Feb. 12
	Sundry Creditor—Jones Motors
	1523
	41 503
	847
	
	
	
	
	42 350

	
	
	
	
	
	
	
	
	
	


 2 marks
2.2.1 
Calculation of depreciation
	180 000 x 6% = 10 800

38 500 x 12% = 4 620 per annum x 5/12 = 1 925



	Depreciation Expense
	$12 725


1 mark per calculation 
2 marks
2.2.2 

	Motor Vehicles

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	Jan 1
	Balance
	180 000
	June 30
	Disposal of Motor Vehicle
	42 000

	June 30
	Sundry Creditor—Jones
	38 500
	
	
	

	
	Motors
	
	
	
	


1 mark per entry
	Accumulated Depreciation of Motor Vehicles

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	June 30
	Disposal of Motor Vehicles
	7 980
	Jan. 1
	Balance
	58 500

	
	
	
	June 30
	Depreciation of Motor Vehicles
	12 725

	
	
	
	
	
	


1 mark per entry

	Disposal of Motor Vehicles

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	June 30
	Motor Vehicles
	42 000
	June 30
	Accum. Depn. of Motor Vehicles
	7 980

	
	
	
	
	Bank
	27 000

	
	
	
	
	Loss on Disposal of Motor Vehicles
	7 020


Minus 1 mark per error (up to 3)

2 + 2 + 3 = 7 marks
2.2.3 

Cash Flow Statement (extract) for the six months ended 30 June 2010
	Investing Activities
	$
	$

	Inflows:
	
	

	Proceeds from Sale of Motor Vehicle
	27 000
	

	Outflows: 
	
	

	Sundry Creditor—Jones Motors
	(41 503)
	

	
	
	

	
	
	

	Net Cash Flow from Investing Activities
	
	(14 503)


3 marks
2.2.4

	Explanation

	Justin is incorrect. Reports should be prepared in a consistent manner in each period. Even 

	though the business did not sell a vehicle in the previous period, this information is relevant for 

	users in this reporting period and must be included.


2 marks
2.3.1

	Explanation   The firms’ mark-up has increased. This has most likely been caused by Justin 

	increasing his selling price at a greater rate than any increase in cost price. It might also have 

	been caused by Justin maintaining his selling prices but negotiating a lower price from the 

	supplier.


2 marks
2.3.2

	Suggestion 1   Increase other revenues, for example discounts from suppliers

	

	Suggestion 2   Reduce other expenses, for example wages, office expenses and rent.

	


2 marks
2.3.3

	Return on Assets Ratio measures:   how effectively the business is using its assets to generate 

	profit. In this case it shows that the business is using its assets less efficiently in 2010.

	

	Explain the relationship The Asset Turnover Ratio measures how efficiently the business is

	using its assets to generate sales. 

	The Return on Assets Ratio is therefore a function of the Asset Turnover and Net Profit ratios. 


2 + 2 = 4 marks
2.3.4
	Identify   The number of sales returns. The number of customer complaints

	Explanation   The number of sales returns could show poor quality or damaged products,

	which could result in a loss of repeat customers as they become disenfranchised with the 

	product.


1 + 2 = 3 marks
2.4.1 

	Stock Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	July 1
	Balance
	55 000
	Dec. 31
	Cost of Sales
	38 500

	Dec. 31
	Bank
	16 785
	
	Cost of Sales
	57 750

	
	Creditors Control
	151 065
	
	Drawings
	5 000

	
	Cost of Sales
	3 400
	
	Stock Write-down
	12 000

	
	
	
	
	Balance
	113 000

	
	
	226 250
	
	
	226 250


	Cost price of sales returns $ 3 400


Minus one mark per error (up to 4)

	Debtors Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	July 1
	Balance
	75 000
	Dec. 31
	Bank
	231 000

	Dec. 31
	Credit Sales
	231 000
	
	Discount Expense
	7 500

	
	
	
	
	Bad Debt
	2 600

	
	
	
	
	Sales Return
	13 600

	
	
	
	
	Balance
	51 300

	
	
	306 000
	
	
	306 000


	Closing balance of Debtors Control $  51 300


Minus 1 mark per error. Sales Return is consequential to the Stock Control account.

	Creditors Control

	2010
	Cross Reference
	$
	2010
	Cross Reference
	$

	Dec. 31
	Bank
	156 275
	July 1
	Balance
	62 500

	
	Discount Revenue
	8 225
	Dec. 31
	Stock Control
	151 065

	
	Balance
	49 065
	
	
	

	
	
	213 565
	
	
	213 565

	
	
	
	
	
	


	Closing balance of Creditors Control $  49 065


Minus 1 mark per error
4 + 3 + 2 = 9 marks
2.4.2
The Great Gatsby

Budgeted Profit and Loss Statement (extract) for the six months ended 31 December 2010
	Revenue
	$
	$

	Cash Sales
	154 000
	

	Credit Sales
	231 000
	385 000

	Less Sales Returns
	
	13 600

	
	
	371 400

	Less Cost of Goods Sold
	
	

	Cost of Sales
	
	92 850

	GROSS PROFIT
	
	278 550

	Less Stock Write-down
	
	12 000

	ADJUSTED GROSS PROFIT
	
	266 550

	
	
	

	
	
	


Minus 1 mark per error
4 marks
2.4.3

	Explanation

	Justin could use the report to control his expenses, such as stock write-downs, highlight

	sales returns or assess the adequacy of his mark-up.

	


2 marks
Total: 45 marks[image: image1.png]
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